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Elasticity Problems

See the Elasticity handout for help in working these problems,
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1. State the definition of the price elasticity of demand. . A

Is To 4 O v THL Priet .

: . CATE
2, What are the three determinants of the price elasticity of demand?(D) AvAItABILITY »F Reed
2) 9 of Buvss DrveTws To 2pse () Timg

3. Demonstrate the relationship between elasticity and total revenue. émsﬂ_& As TP -2 J-TR
Twsrasrie A - PTR
4. Total revenue rises while the quantity demanded increases = in the

UPPTR (§8sT)egion of the demand curve.

5. Total rgvenue rises while the quantity demanded decreases = in the
Lo wstk ) region of the demand curve.
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_ 6. Total revenue falls while the.quantity demanded increases => in the -
Lowt 'IM‘.L A$1s2)  region of the demand curve.

7. Total revenue falls while the quantity demanded decreases = in the
Lt [SUngy 1£) _ region of the demand curve.

8. Total revenue rises while the price increases = in the ffbf LAFTI«  region of
the demand curve.

9. Total revenue rises while the price decreases = in the LCASTIe region of
the demand curve.

10. Total revenue falls while the price increases = in the fMjT /€ region of
the demand curve.

1. Total revenue falls while the price decreases = in the /{uzu‘iﬂ /€ region of
the demand curve.

12. In the elastic region of the demand curve and the quantity demanded increases =

total revenue ;l;’gﬂ&tgqb .

13. In the elastic region of the demand curve and the quantity demanded decreases =

total revenue P CASA ggg .

14. In the inelastic region of the demand curve and the quantity demanded increases
= total revenue D TCAA4 5T 7.



15. In the inelastic region of the demand curve and the quantity demanded decreases

= total revenue LNC&?Ai‘f} .

16. In the clastic region of the demand curve and the price increases = total revenue

DIc A1,

17. In the elastic region of the demand curve and the price decreases = total revenue
MNC RIASES

18. In the inelastic region of the demand curve and the price increases = total

revenue T acnsat’s.

19. In the inelastic region of the demand curve and the price decreases = total
revenue _NDZ CAAs1S .

20. Total revenue rises while in the elastic region of the demand curve = quantity

demanded LTpCASA44S .

21. Total revenue rises while in the inelastic region of the demand curve = quantity

demanded DT CAAILS .

22. Total revenue falls while in the elastic region of the demand curve = quantity

demanded ()¢ sa$ss .

23. Total revenue falls while in the inelastic region of the demand curve = quantity

demanded Tneassss s . s 9,08 idp 9,66
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25, If the elasticity is 3, a -5 % change in price will cause a -~ 05 % change
in the quantity demanded in the opposite direction.

24. If the elasticity is .5, a 10 % change in price will cause a Z.0p
change in the quantity demanded in the opposite direction.

o¢ 20. If the clasticity is .2, a 6 % change in the quantity demanded will be caused by a
—~t R
L= - 30 % change in price in the opposite direction.
9P P PP

_l 27. 1If the elasticity is 7, a -11 % change in the quantity demanded will be caused by a
—-9:2(7) [ SF % change in price in the opposite direction.
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28. If the quantity demanded changes from 5 to 10 units as the price changes from Cop, =5 ﬁ,
$14 to $9, the elasticity is [, 66 F and is called TLASTIC . Gy, O fr= ?

29. If the quantity demanded changes from 25 to 22 units as the price changes from
$3 to $10, the elasticity is 4 //8S  andiscalled T, MFLAST /L .
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30. If the quantity demanded changes from 2 to 4 units as the price changes from $6
to $3, the elasticity is and is called

31. State the definition of the income elasticity of demand.

32. gy > (2 = Normal Good.
33.81 < 0 = Inferior Good.

34. g 7 1 = Luxury Good.

e

35. 8y 7 1 = Necessity.

38. If the quantity demanded changes from 10 to 15 as income changes from $20,000
to $21,000 then the income elasticity is &, T and the good is called
MIAMAL  anditisa LUXAAY Goop

39. If the quantity demanded changes from 40 to 42 as income changes from $15,000
to _$9,000 then the income elasticity is ~. Of 24  and the good is called
INFIR 2.

40. 1f the quantity demanded changes from 3 to 6 as income changes from $5,000 to
$12,000 then the income clasticity is _, 8/ and the good is called

MOALMAL anditis a g pmel €720 .

41. If the income elasticity is .1 and income changes by 3 %, the quantity demanded

changes by 36 D and the good is called apfmgl-  and it is a

NoMar & sod>

42. If the income elasticity is -2 and income changes by -4 %, the quantity demanded

changesby , OR and the good is called Zou &4/ 0.

43, If the income elasticity is 3 and the quantity demanded changes by 9 %, incomeé

changes by .03 and the good is called g, AM4L and it is a
CUXAAY . ‘

44. If the income elasticity is -.7 and the quantity demanded changes by 16 %, income

changesby =, 2254  andthe good is called ~ LA T/, .
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45, State the definition of the price elasticity of supply. #E4sURTS THE Qispew SIOVLS

ofF s To A A (NTHE Propuel’s pPrrLe.



46. If the supply curve intercepts the price axis, the elasticity of supply is > .

<.

48. If the supply curve goes through the origin, the elasticity of supply is Tl

47. If the supply curve intercepts the quantity axis, the elasticity of supply is

49, 1If the quantity supplied changes from 5 to 10 units as the price changes from $14
to $20, the elasticity of supply is _/, .
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50. If the elasticity of supply is 2, a 10 % change in price will cause a Z 10
% change in the quantity supplied in the same direction.

51. If the elasticity of supply is .4, a 6 % change in the quantity supplied will be
caused by a . 1S % change in price in the same direction.

52. State the definition of the cross price elasticity.

53. egp> O = Substitutes,

54. g¢ep < 0 = Complements.

——nca

55. R Independent goods.

56. If a -8 % change in the price of one good causes a 1 % change in the quantity
- demanded of another good, the cross price elasticity is ™ « 25 and the goods

are called Ty MPLIMUT 5

57. If a 2 % change in the price of one good causes a 3 % change in the quantity
demanded of another good, the cross price elasticity is [+5 and the goods
are called SvRITITVTLS

58. If the quantity demanded of one good changes from 8 to 10 units as the price of
another changes from $20 to $25, the cross price elasticity is Liov and the

goods are called Tpp o a7,

59. If the quantity demanded of one good changes from 14 to 12 units as the price of
another changes from $13 to $14, the cross price elasticity is _ = §559 and the
goods are called _Cp MPLIMWTS '

60. Why would a seller not want to operate in the inelastic region of a demand curve? "F,
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